
STREET SCENE EQUIPMENT,INC. 950-70133
365 McCormick Avenue CHEVY / GMC TAHOE /
Costa Mesa, Ca. 92626 SUB / YUKON XL

    Phone (714) 426-0590   Fax (714) 426-0591 2000 - 2004
ROLL PAN

     INSTALLATION  INSTRUCTIONS
NOTE: Fit all parts before painting ( See Special Instructions For Paint Prep. ) Parts that have been 
installed, preped, or painted are not returnable.

VERY IMPORTANT !  Read and understand all directions and check the following parts list before starting
installation. 

PARTS LIST
1            Roll Pan 1     Instruction Sheet
2       1/4 X 3/4" Bolts 4     1/4" Flatwashers 2                1/4" Nyloc Nuts
6     # 10 Washerhead Self Drilling Phillips Head Screws

TOOL LIST
                       Ratchet, Sockets, Drill Motor, 1/4" Drill Bit, Phillips Screwdriver

1.   Remove the rear bumper, Remove all bumper brackets. If you are not sure how to do this, Installing a 
      roll pan is not a job for you.

2.   Set the roll pan into position. ( Hint use masking tape to hold in place. ) Check for fitment at bottom
      corners.

3.   Fasten across the top using the self drilling phillips screws. Space them equally across.

4.   From the underside of truck drill through the return edge of roll pan and into the body panel at the 
      bottom side of roll pan.

5.   Fasten at these points, using the 1/4 X 3/4" bolts & nuts provided.

NOTE:
     We Highly recommend adding a cross bar across the back of the frame in front of the 
     roll pan before installing roll pan.

7/13/00   SSE   950-70133


